Word Problems

Money (Whole Dollars)

- ATammy has $8 and Wendy has $7. If they put their money together, how

much money will they have in total?

- David had $10 in his poc|<eT. He lost $3 Through a hole in his pockeT. How

much money does David have left?

- Chris buys a spade for $4 and a ball for $8. How much does he spend in

v

- Mum gives Dylan $7 to buy lunch. Dylan spends $5. How much money does

he have left?
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Word Problems Answers
Money (Whole Dollars)

- ATammy has $8 and Wendy has $7. If they put their money together, how

much money will they have in total?

$15

- David had $10 in his poc|<eT. He lost $3 Through a hole in his pockeT. How

much money does David have left?

S7

- Chris buys a spade for $4 and a ball for $8. How much does he spend in

vy

- Mum gives Dylan $7 to buy lunch. Dylan spends $5. How much money does

he have left?

$2
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